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Board 1

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 S3¢-2 &7
0,0 0 2 N3+-2 ¥B
Board 3

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 S4a+l v9
0,0 0 2 S4a+l 99
Board 5

Paar IMP IMP NS Kontrakt Aussp.
-5,0 =5 1 S3v-1 4A
5,0 5 2 Wb54-2 ¥4
Board 7

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 W1le-2 &9
0,0 0 2 034-2 «D
Board 9

Paar IMP IMP NS Kontrakt Aussp.
10,0 10 1 N3SA= #4
-10,0 —10 2 N2SA-1 42
Board 11

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 0O24+2 910
0,0 0 2 W1i1v+3 ¢7
Board 13

Paar IMP IMP NS Kontrakt Aussp.
-8,0 -8 1 S4e4-2 £10
8,0 8 2 S2v+l 210
Board 15

Paar IMP IMP NS Kontrakt Aussp.
13,0 13 1 NG6SA= 48
-13,0 —13 2 N3SA+2 v7
Board 17

Paar IMP IMP NS Kontrakt Aussp.
-5,0 =5 1 S4¢-1 45
5,0 5 102 S4¢= 45
Board 19

Paar IMP IMP NS Kontrakt Aussp.
10,0 10 1 S4a= 910
-10,0 -10 102 S44-1 v10
Board 21

Paar IMP IMP NS Kontrakt Aussp.
-3,0 -3 1 04¢-1 ¥9
3,0 3 102 S34= 45
Board 23

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 WI1SA-1 +10
0,0 0 102 W 1SA -1 43
Board 25

Paar IMP IMP NS Kontrakt Aussp.
2,0 2 1 NI1SA-1 45
-2,0 -2 102 W 1SA +1 #5
Board 27

Paar IMP IMP NS Kontrakt Aussp.

8,0 8 1 S3SA+2 v8
—-8,0 —8 102 S34= 24

Ergebnis
100
100

Ergebnis
450
450

Ergebnis
100
100

Ergebnis
200
200

Ergebnis
400
50

Ergebnis
170
170

Ergebnis
200
140

Ergebnis
1440
660

Ergebnis
50
130

Ergebnis
420
50

Ergebnis
50
140

Ergebnis
100
100

Ergebnis
50
120

Ergebnis
460
140

OW IMP Paar IMP

102 0 0,0
101 0 0,0
OW IMP Paar IMP

102 0 0,0
101 0 00

OW IMP Paar IMP
102 5 5,0
101 -5 5,0

OW IMP Paar IMP
102 0 0,0
101 0 0,0

OW IMP Paar IMP
102 -10 —10,0
101 10 10,0

OW IMP Paar IMP
102 0 0,0
101 0 0,0

OW IMP Paar IMP
102 8 8,0
101 -8 8,0

OW IMP Paar IMP
102 -13 -13,0

101 13 13,0

OW IMP Paar IMP
2 5 50

101 -5 5,0

OW IMP Paar IMP
2 -10 -10,0

101 10 10,0

OW IMP Paar IMP
2 3 30

101 -3 3,0

OW IMP Paar IMP
2 0 00

101 0 0,0

OW IMP Paar IMP
2 2 20

101 2 20

OW IMP Paar IMP
2 -8 -80

101 8 80

Ergebnis
50
140

Ergebnis
600
690

Ergebnis
180
430

Ergebnis
50
480

Ergebnis
90
100

Ergebnis
100
50

Ergebnis
90
50

Ergebnis
50
660

Ergebnis
120
110

Ergebnis
620
170

Ergebnis
650
650

Ergebnis
800
200

Ergebnis
680
680

OW IMP Paar IMP
102 -5 5,0
101 5 5,0

OW IMP Paar IMP
102 3 3,0
101 -3 3,0

OW IMP Paar IMP
102 6 6,0
101 -6 —6,0

OW IMP Paar IMP
102 -10 —10,0
101 10 10,0

OW IMP Paar IMP
102 0 0,0
101 0 0,0

OW IMP Paar IMP
102 4 4,0
101 4 40

OW IMP Paar IMP
102 4 40
101 4 4,0

OW IMP Paar IMP
102 -12 -12,0
101 12 120

OW IMP Paar IMP
2 0 0,0
101 0 0,0

OW IMP Paar IMP
2 -10 -10,0
101 10 10,0

OW IMP Paar IMP
2 0 0,0
101 0 0,0

OW IMP Paar IMP
2 -12 -12,0
101 12 12,0

OW IMP Paar IMP
2 0 0,0
101 0 0,0

Paar IMP IMP NS Kontrakt Aussp. Ergebnis OW IMP Paar IMP

Board 2

Paar IMP IMP NS Kontrakt Aussp.
5,0 5 1 0O3s-1 +¢10
-5,0 -5 2 026+l 410
Board 4

Paar IMP IMP NS Kontrakt Aussp.
-3,0 -3 1 S3SA= 49

3,0 3 2 S3SA+3 49
Board 6

Paar IMP IMP NS Kontrakt Aussp.
6,0 -6 1 S1SA+3 ¢7
6,0 6 2 N3SA+1 42
Board 8

Paar IMP IMP NS Kontrakt Aussp.
10,0 10 1 S4s4-1 D
-10,0 -10 2 W4v+2 #4
Board 10

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 N2¢= oK
0,0 0 2 W3ea-1 &3
Board 12

Paar IMP IMP NS Kontrakt Aussp.
4,0 -4 1 S25A-1 «K
4,0 4 2 W2+-1 «D
Board 14

Paar IMP IMP NS Kontrakt Aussp.
4,0 4 1 S1SA= 10
4,0 -4 2 S2SA-1 45
Board 16

Paar IMP IMP NS Kontrakt Aussp.
12,0 12 1 S2s-1 D
-12,0 —12 2 O3SA+2 #4
Board 18

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 N2SA= 48
0,0 0 102 S3¢= 49
Board 20

Paar IMP IMP NS Kontrakt Aussp.
10,0 10 1 Sd4a=  ¥2
-10,0 -10 102 S3a+1 2
Board 22

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 O4a+l vA
0,0 0 102 O 44 +1 +10
Board 24

Paar IMP IMP NS Kontrakt Aussp.
12,0 12 1 Ob5¢X-42A
-12,0 —12 102 N34 +2 &4
Board 26

Paar IMP IMP NS Kontrakt Aussp.
0,0 0 1 0O4a+2 ¥B
0,0 0 102 O 44 +2 ¥B
Board 28
13,0 13 1 034X-1 &A
-13,0 =13 102 O 14 XX +1 #A

100

2 -13 -13,0

720 101 13 13,0



Board 29 Board 30
Paar IMP IMP NS Kontrakt Aussp. Ergebnis OW IMP Paar IMP Paar IMP IMP NS Kontrakt Aussp. Ergebnis OW IMP Paar IMP

0,0 0 1 Sda= ¥4 620 2 0 0,0 9,0 9 1 O4e= 2A 130 2 -9 9,0

0,0 0 102 S44= 49 620 101 0 0,0 -9,0 -9 102 S3v X -3 49 500 101 9 9,0

Board 31 Board 32

Paar IMP IMP NS Kontrakt Aussp. Ergebnis OW IMP Paar IMP Paar IMP IMP NS Kontrakt Aussp. Ergebnis OW IMP Paar IMP
1,0 1 1 Oda= 410 4202 -1 -1,0 7,0 7 1 SI1SA+2 v4 150 2 -7 10

-1,0 -1 102 O44+1 <10 450 101 1 1,0 -7,0 =7 102 O24+1 45 140 101 7 7,0



